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step 2. Locate the critical range for F-ratio. calculate the

1) df(total): 20+20+20+20-1= 79

2) df(within) : 19(n-1) * 4(cell 7i=) = 76

3) df (between) : 4(cell 7i5) —1 =3

4)df (A):2-1=1

5)df(B):2-1=1

6) df(AxB): df(between) — df(A) — df(B)
=3-1-1=1

Compute F-ratio

SS

. SS (total) : 31836 — 25920= 5916

-y

1. SS (within) : 1540 + 1270 + 1320 + 1266 = 5396

-y

. SS (between) : ((440/2)/20) + ((30012)/20) + ((34072)/20) + ((360%2)/20) - ((1440/2)/80) = 520
1. SS (A) : ((74072)/40) + ((70072)/40) - ((1440/2)/80) = 20

\V]

. SS (B) : ((78072)/40) + ((66072)/40) - ((144072)/80) = 180
3. SS (AxB) : 520 - 20 — 180 = 320

MS

1. MS (A) : (SS(A)) / (df(A)) =20 /1 =20

2. MS (B) : (SS(B)) / (df(B)) = 180 /1 = 180

3. MS (AxB) : (SS(AXB)) / (df(AxB)) = 320 / 1 = 320

4. MS (within) : 5396(SS(within)) / 76(df(within)) = 5396 / 76 = 71

F-ratio
1. F (A) : MS(A))/ (MS(within)) = 20 / 71 = 0.2817

2. F (B) : (MS(B))/ (MS(within)) = 180 / 71 = 2.5352



3. F (AxB) : (MS(AxB))/ (MS(within)) = 320/71 = 4.5070

2. Result
Result

Source SS df MS F
Between treatment 520 3 - -
-Factor A (weight) 20 1 20 0.2817
-Factor B (fullness) 180 1 180 2.5352
-A x B interaction 320 1 320 4.5070
Within treatment 5396 76 71 -
Total 5916 79 - -
Weight x fullness factorial design
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4. BE

1) S22 (Weight) xto|of| 2|t 32174 AF| H|&(number of crackers eaten) 2 0| QiCt.
2) Z0tZH(Fullness) Xt0[0j| 2|5t 327 MF| H|E(number of crackers eaten)2 EESH xt0| 7t QiCt.

3) O[e+ Z0| Xto|oi| CHEF sHAofl AAHM =] 5 HEH(Weight, Fullness)2| &z c=z=ot dHst 4= gi7| =20
=7 (Weight)2t Z2HzZH(Fullness)2 SAIZXH0f 2lsiA2H LIEHLT= XtO|YM, M= 45%E &S 20 F2hA
HFH[Z20l| Xto|7+ ALCt.




